Curve Fitting Example

Ezample 8: Find the cubic polynomial
f(t) = 21 4 zot + 231> 4 2413

that satisfies f(—2) =3, f(—1) = —6, f(1) =0, and f(3) = —2. Verify your answer.
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Figure 1: Graph of cubic polynomial passing through (-2, 3), (—1,—6), (1,0), and (3, —2)

> 3
7((-1)23 => X, + (-Z.)X,_ + (—1) X5 ¢(—2) K‘l =3

xl—ZK,_+L(x3F$xq:3 r—®"z- “l ~8 3
x" xl f)(? -K‘( = -6

frkiax, exy =0 /31 22| -2
K idx, e 9k, + 220y 22











































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































Ezxtra Space:

Ry: =R, -R -
' qgl I -2 y -3{3 R
Rs"ﬂa' 1 o ( -3 7 -9 R,,.':Rq-;R; o 1\ -3 7 -9
RyisR,- R, o 3 -3 q |-3| R=R3R | o0 0 612 |2
) ©o § 5 35 |-° T o o2 o |H°
'xl XZ x? ’x.-;(
Rq=="“°"‘* | -2 4 -8 -2 | ~2 4 -8\=2 |
Rg = /‘R3 o 1 -3 7 o l -3 7 -9 29)(‘-3(':.)1*?(-1):-1»,\' sy
7~ ~— |o o 1 -2 : Ry:=Ry-Rs) © o 1 -2 |4 P Xa-2-) sy x z
o o !} o /\/ o S 06 2 -2 =>2x‘{=_z$ xq: ~

X ~2(q) +4(2)-3(-1) =3
X,=8-3-843 (X, 3 -5

;(t) =~ +4¢ fz.ea'-tr'
B

Cﬂ"l_"‘ F(L) 2 -5+4CD+ 2-2)*-(-2)%-3
5(-\) = ~Say ()4 2 =% ~e VvV
£

f

Seg (e 2= (0 © o

3
o5 +(D AN (D =

-G 1L +I€-22 < ~2

0










































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































